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ONLY ONE correct answer from  (A) or @) or (C) or @)  apd shade the saine in your answer sheet.• If you feel that there are more thin one correct answer,  shade the one whiph you consider the begiv.
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take the ciuestion.booklet with vou onlv after the examination is over.

9.       You should not inake any marking in the question boohiet except in the sheets before the
last page of the question booklet, which dan be. riser for rough work. This should be strictly
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u©g-cab -G\ungH c9Ipqu (uLLL]u+LILT §ITLb)

Part-B - General Studies (Degree Standard)

6£16orITdidbch     :  101-200                                  G`LDIT§§  il]gL]Glu6rfudbch     :  150

Qu.estions   : 101-200                         Total Marks                      `:  150

101.  Which of the following statements are true about Judicial Review?

(i)     The doctrine of judicial review originated and developed in the'-U.K.
(ii)  ` The  Constitution of India c.onfers the power of judicial review .oi

the judiciary

(iii)   The   poirer  of  judicial  review  cannot  be_  curtailed   6ven  by   ;
Constitutional amendment

(i) and (ii) are true
(ii) and (iii) are true

(C)    (i) and (iii) are true
(D)    (i), (ii) and (iii) ar: true
(E)    Answer not known

Sg  Li6uTITITiijqu  LI®®u  £©6;dirTcoTi]LI®Lb  6und;fluTild5ofld)  6Tgi/or6u7ou  dFfluIT6uTco6u?

(i)        Sg        Li6FTITITii]quds        Gd5ITLLjIT®        u+.Gg.        (u.K.).             cgn.chpu8u        LD®grLb
/,

8L®6uITdsd5L]LJLL9|

(ii)      @Sgu  eiITflu6DcoroL]Li  as§8icopds© SgLi6FT7ITiiiGH  agosrfFT§cO§,GUEprfu©flp5I

(iii)    $9  HcoT7ITulq  elgg5rrITSco§ elITflu6ocou]tlH g®§§fo  c!p6Dfo  ®cop8ds  Gp+ujIT5i

(A)      (i)  LD®orLb  (ii)  6:fl

(8)     (ii)  LD®grLb  (iii)  cfl

(c)      (i)  LI]®grLb  (iii)  dFfl

@)     (i),  (ii)  LD®9JLb  (iii)  a:fl

(E)'     6flcoL Q§flu6flde6@60
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102.  Which of the following statement with respect to the Indian President's
power is/are correct?

(i)     Money bills can be introduced in the parliament only with his prior
recommendation

(ii)    When the financial stability or credit of the nation is threatened,
the President cant declare the Financial emergency

(iii)   The  President  is  not  answerable  before  any  court  of  law  for
exercising the powers and duties of his office

(iv)   The administration of Union Territories is the responsibility of the
` President

(A)     (i), (iii) and (iv) only

(8)    (ii) arid (iii) correct

(#:),
and (ii) only

(ii), (iii) and (iv) correct

(E)    Answer not known

Lgdrou®Lb  ch®9|d;ofch  ©Sgu  836uTITgLig  c9igd5ITIT§?ch  al5"6TcOOu  dFflurTen5i 7

(i)         ©+uITd+§     §cO6DOuflch     (!PchLJflSg|coquLch      LDL®GLD\     LJ658T      LDcdFIT§ITd;dico6IT

fbrrLIT(gLD6drpsgch  eiFcpd5L] u ®§§  c}>+ui Lb

(ii)      PITL+6ir  pg   fl6bt6DS§ch6btLD   e]ch6D8|   d5L6ir  elsdF8usg82i65(5   eLdrGTTrr(gLb   GLjno|

©+uu-a+§§cO6DOufr pg  e[6u8g-pcO6DcOu  eigiv6fldso;  (!p+uiib

(iii)     (g+uiITdr§§cO6Oolfr   §erTgi    eigz|6ziajd5§g6ir   eigd5ITPTild5dr  \LD®grfo    d;L6nLDd5606ITL
uuchu®§5]ou§®(g 6TS§GlourT® $9iDchp§96ir cpch Oung]Llurr6Tfl  e|ch6D.

(iv) ,   gofluch  fl7G§6Frii65Oflch flfr6uIT65$9®6  ®qu7o+§§co6D6ufr  OuIT9]L]uIT6IToufr

(A)       (i),  (iii)  LD®9]Lb  (iv)  LDL®Cro  e=fl

(8)      (ii)  LD®8ULb  (iii`)  LDL®CLD  Jfl
J

(c)      (i)  LD®grLb  (ii)  LDL®GLD  dFfl

(D)     (i),  (ii),  (iii)  LD®9]Lb  (iv)  dFfl

(E)      6flcoL  G\§flu6flchco6D
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103.  Which of the following statements are true about fundamental duties?

(i)     Fundamental    duties    are    laiddown    in   Article    51-A   of   the
Constitution.

(ii).   86th amendment Act, 2002 added llth fundamental duty to the list.

(iii)   To develop scientific temper is not a fundamental duty.

(A)    (i) only

(8)    (ii) and (iii) only

d   ® arlndtyiA) rf dray

@)    (i) and.(iii) only

(E)   Answer not known

\

ei+L]LlcoLds  d5L6nLDd5dr  (gSl§§ds  £©d;IT9iLb  6TS?  QgIT®QPITLfr&dr' 0:fluIT6FTcO6il 7

(i)        e]+L]LlcoL65           95L6nrodidr          eiprJ\u6DcoLOL]Lf\dr          of\g           51-A          ©ch
Gld5rr®dsd;L]uL®dr6no]

(ii)      1|6ug|   ei+L]LlcoL.  diL6nLDcou    86qug|   9®§§ddFLLLb    2002qbch    LIL+u6fld>
GdFfrdseEL]uL®dr6noi.

(iii)    e]p6flued  LI]enLILlrrdrcoLDcOu  Ou6TTfr§§ch  ®®  cg>i+LLlcoL  d5LcOLDuch6D..             i

(A).      (i)  LDL®Lb

(8)      (ii)  LD®9JLb  (iii)  LDL®Lb

(C)      (i)  LD®8uLb  (ii)  LDL®Lb

a)     (i)  LD®9lLb  (iii)  LDL®Lb

tE>  `   6ricoL Q§flu6flchco60
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104.  `REtab-I-Nauras' `is a collection of the poems of/Ibrahim Adil Shah - 11

(8)   AImad-II

(C)    Tajud-Din Firuz

(D)   Muhammad-II

(E)    Answer not known

`@§L] -© -Pch IT6fo'  6Tchu5J

(A)      @ITdrLn.Lb  ©LjFTrTflLb  t8]+ch  apIT

(8)    ` @ITdrLITLb  cfl65'LD5i

(c)     §rTaui§-gch aL|®6iD

a)     ©7drLrrLb  ce05LD5i

(E)     6flcoL O§flu6flchco6D

•CCS2E/2022 30
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105'.  Buddhist poet Asvaghosa wrote `Buddha Charita' in

(A)    Prakrit
(8)    Pali
(C)    Urdu

Sahskrit

(E)    Answer not known

Lis§  656fl©fr ei6iv6ucd;rrapfr "Li§§  g:flco§''' sou

(A)      L97rrfl®§Lb

(8)      LJIT6fl

3#co:fl®§fo
(E)     6flcoL 0?flu6fld)co6D

I,anguage.

GI LDrrgiv uflch  6T©9enrrfr.

106.  "The  Cultural  Development  is  characterised by  intellectual,  aesthetic
and spiritual attainment.s" Who said the above statement?

{A}:..sri.MF±::rchiid
(C)    Max wieber
@)    Tansen                                                                                                                  `
(E) '  Answer not known
"d;6DITJdFIT7     6u6ITfrga     6TdrLIg|     eiSai     eip@uch     LD®gLfo     qb6irusa     gIT§coerT86ITIT;

6ucod5LjLI®§§L]LI®@p9i" GTchp  ciD®8drL th®9u  iLIIT®cOLul9| 7
\

(A)       Gg3.6TGio.L6`ch.

(8)       6T6fo.6TLb.  OoOGLlfrcodFch®

(c)     'Gtos56fo  Q6uLiufr

0)     LITchGd:ch   '

(E)     6flcoL Q§flu6flchco6o
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107.   Choose the incorrect match`:

(i).    Suba                    -      Sipahsalar

(ii)    Sarkar                -      Faujdar

(iii)   Pargana             -      Shiqdar

t(iv)    Village                 -      Bakhshi

(A)    (i) and (ii) only

(8)    (ii) only

(C)    (iii)'and (iv) only/ (iv) only

(E) .   Answer. not known

Qurr®§§Lb  fch6DIT§orjDcop§  C§frsQ§®d5d5GHLb  :

(i)         diL]rr                                       -          flL]urrdFIT6Dfr

(ii)       a:fr6;65ITfr                              -          Qu6ITee§ITfr

(iii)  `  Llfrd5rrenIT                           -          fl65§ITfr

(iv)     @ITITrofo                          -         u65ap

(A)      (i)  LD®orLb  (ii)  LDL®Lb

(8`)      (ii)  LDL®Lb

(c)      (iii)  iDfDorib  (iv)  LDL®Lb

@)     (iv)  LDL®Lb

(E)     6flcoL a?flu6fld)co6o

CCS2E/2022 32
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108.  Match List-.I with List-II and select the coITect answer :

List-I (Place)

(a)   Chanhtldharo
@)   Kulli

(c)   Rakhigarhi'

(d)  ` Dholavira

•(a)        ®)        (c)         (d)

13

12

chswer not .known

4

4
2

2

• List-II (Excavated by)

1.     Aurelstein
•2.      J.P.Joshi

3.     Majumd;r
` 4.     Amrendranatri

lil+ud>-I   ae    lil+uch-II ,  gLLch   oufr®¢g   fc82  ` (5j\i]LgL®dr6n.   (5®rf®dico6TT6;
G\diITdr®  d:fl u IT6uT  of\cOLcOu§  G§frSQ§®dsdiQiib.

LIL+ud)-I  (©LLb)

(a)     grrdrgs§ITGITIT   .

a)    ©d,6@

(C)       FTIT@65rrfrgfl

(d)    .GgrT6D6flFIT

(a),       a)       (c)

(A)    2            '1     `-3

(8)    3-          1.           2

(C).r3.             1              4

a)   4         3   .1          2
(E)     6flcoi o§flu6flchco6D

P

lil+uch-II (G§rrdrL.LLjLLgi)

1.        ±FTch  6ioLqch

2.,     J.P.  Gg3ITap

3.         LDstLb§+fr

4.        aLDCITfb9FTprrs

33 CCS2E/2022
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109.   Choose the right answer.among type :

Which  of the 'followi.ing  statem.ents  are  true  about  Eleventh  Five ,Year
plan of India?

(i)    'The main focus of this plan was towards faster `and more iriclusive
growth                                                                                     ,

(ii)    This  plan  stresses  that  benefits  of developm`ent  should  reach  all
E=

Sections of population.'                                               ` a

(iii)   Increased rice production in the eastern part of the country.
•    (A)      (i)on.1y.

(}
(i) and (iii) only

(i) and (ii) only.

(D)    (ii) and (iii) only

(E)    Ariswer not known
££55556inL  th®or;6fld>  dFmuIT6FTcO§  G§frSo§®dsg6L|Lb.

©S9uITofldr,       Lj9Qenrrchprrou5j      gS§ITdr®§   ` 9LL§co§ri      Li®.givu      Lf`ch6u.®fo
dh®gr05oflch  6T5I  a:flurr6ngi 7

(i)        ©S§§  gLL§gch  cpdsflu  o;qu6FTLb  6flco7OuIT6uT  iD®9]Lb  a_dr6TTLdschul  ou6ITfrSJlcou
GprT6;a u¢rro5 ©®¢g5J`.

(ii)       Ou6TT,fr6:J\uflch   Li606ir65dr   eico6m.¢gj§   §pLH   LDd;05cO6TTuiLb   Qd=chpcoLu   cOuch®fo
6TchLjco§ ©S§§ dLLLb  6u66\u|g»§5J@PgJ.

\

(iii)    f5ITLtrych flEgd5®L  u©96chch e]fla  ai®uS9 ei9o5fls§gi.

(i)  u)L®Lb            ,

(i)  LD®g"Lb  (iii)  LDL®Lb

(i)  LD®grLb  (ii)  LDL®Lb

(D)      (ii)  LD®guLb  (iii)  LDL®Lb

(E)     6flcoL Q§flu6flchco6o

CCS2E/2022 34 P



110.  The largest west flowing river of peninsular India is

(A)    Mahi
'\

(8)    Sabarinati

(/Narmada

'(D)   .Luni

\

(E) ' Answer not known

P

£ud;fDu  ©$9uIToflch  GLD®©  GPITdsflL]  LjrruiLb  Lfld5LiGruflu  p9  6Tgi ?
*

(A)      LDgfl

(8)      dFuirLDg

(C)     pfr,I)§rr

a)   grdi

(E)    . 6flcoL O§flu6flchco6D

35 CCS2.E/2022
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\?*^                        .

'  111.  Two   exactly  `similar   w-ires   are.  stretched   by   the   same   load.   Their

icities are .in the ratio-5:3. The ratio of their elongations are

3:5

(8)     5:3

(C).9:25                            `

(D)     25:9         £

(E)    Answe`r not known

112.

©®     ®§§     6;PLgd5dr     d=LD     ei6TTqudr6IT     6T6nLiLirrch     d5L+§     G\?rrriid56flLL]LIL®dr6IT6FT.

ei6u®Fdr   LBLfl.uluch   ©endsri]d56flch   6flfl§fo   5:3   6T6fflch   osLbL9d5drfldr   SLfl   6flch§Lb

dr6dr6FT 7
'

(A)     3:5

(8)     5:3

(C)     9':25    .

@) `   25  :  9

(E)     6flcoL O§flu6flchco6D

r#an blood grouping Was discovered by

Landsteiner

(8)   'Punett.
(C)    Correns. '

@)   -Muller
(E)    Answer not know`n
LI]6rfi§  a FT§§  6il 6u705`d5codrd5  95chLjiS§6ij fr

(A)      d6odrL6iDL£6mfr

(8)      L+drQ6FTL

(a)      Gd5rr07ch6iv

(D)  <` cpch6Dfr

(E)     6flcoL O§flu6flchcoco

CCS2E/2022  . 36



113.  In the collective model of the nucleus, the shape of nuclear cor.e is

`    ` qJ  Nf iin:grrtyJrir;SfrA

(8)    Spherical

(C)    Semi-spherical

(D)    Circular

(E)    Answer not known

eig]6;g5q56iS\ch     chL®      LOITgfl      eicotl>LLglch     e]g]do5®     GT§§cod5u      ou+6u§co§LI

Ou®P®65©Lb?

. (A)       Gd5IT6IT  Gu+6uLJ)®P

(8)     .  Gd5IT6TT  6HL+6uLb

(C)    . eicoFdsGd5maTT  6u+ouLb
`,

@)     GULLou+`ouLb   ,

'.

(E)    6fl6nL G\§flu6fld)coco

P
37 CCS2E/2022
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114.  Assertion [A]  : Science. is complex, Abstract and multi fa66ted discipline.

ReasonHt]       : Scienti'fic     knowledge     is     concrete     theoretical     and

synthetic.

(Z[A] is true, but [R] is false

(8)    Both [A] and [R] are true, and [R] is the correct explanation of [AJ

(C)    [A] is false [R] is true

(D)    Both [A] and H`] are true, but " is not.the correct explanation Of [A]

(E)    Answ`er not known

chfi>ey       [A]       :      eiF6flud>      JIG;d5cOTT6FT,       d5®§gu6DIT6uT      LLD®grLb       ilch(!pd5§§drcoLDd;

oo5ITdrL®6uurr©Lb

a;rrIT6mLb  [R]  :         eiFofluch     e|®6H     6rchLj®,     uq5LQUIT®dr,     Gd5ITLUITb     Lo®grfo
\

o§rT©i] Li  (!/)cope;cO6TT  gLdrdrLd;@ u5i.

(A)      [A]  gflui6FTg|  =L6mch  [R]  §6upIT6ngi.      ,

(8)       [A]Lb  [R]Lb  a:fl,   [R],  [A]Ofl®d;Srr6FT  d[flurr6FT  Gfl6TT6;g5Lb

(c)      [A]  prpIT6FT8u  [R]  a:fluIT6FT5i

(D)      [A]Lb  [R]Lb  dFfl,  qb6FTrrch  [R],  [A]6fl®dsd5rT`6FT o:flurren  6flongd5LDdra)

(E)     GflenL  Q§flu6flchco6o

•  CCS2E/2022 38



115`.  Match the following .:

(a)   Apospory

a)   Apogamy

• (c)    Parthenocarpy

(d)   Par`thenogenesis

(a)        @)

(A)    .(2)         (3).

:8'   (:)
(4)'

(1).

@)    (2)        (4)       I(1)

(E)    Ainswei not known
'

£©d;05drLoujDcop  OLirr®§gid5  :
•(a)    aL]GUIT6foGurrfl

\

a)    aL]cuITcd5L6`

(c)     uITfr§gc6ITmsITfrLg

(d)    urrfr§gG6ITITog36#a6io   ;

(a)       a)       (c)

(1)         (2)

(2)         (4)'       (1)

6flcoL Q§fl u6flchcoco

P

1.     Develpp'ment  of  a  sporophyte  directly.
from the gametophyte   `.

2.     Fpuit formation without fertilization of
ovules

3.     Developmen-t  of  an  einbryo  from  an
un fertilized  egg cell

4.     Developmen`t of gametophytes  directly
from the sporophyte

)

1.        cd5L6iLGLITapL+i+6fl®Sgu  Gp7+uITd5
ch)GLIITcprITcoLIL  eL®6urr©6ugi    .

2.         d5®6L|PrrLDch  L|9lb?®ouIT©6Hgb

3.        d5®quprr§  (!p[coL  QdFch6fl6@®$5j  o5®
9_®OrITOugi

4.        chtcuirc7ITcOLjL+cfl®f58i  cp7+uIT05
Gd5L@ lLGLITcOLJL  9L®Ou IT6LJgH

CCS2EV2022
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116.  Which of the following are correctly paired?

Kaprekar         "

Janaki Ammal

(3)     Debashis Mukherjee

(4)    Meghnad saha
'

(A)    1 and4arecorrect

(8)    1 and.2 are correct

(C)    2 and4arecorrect

.a,2and 3 are correct

-     Astrophysicist

-      Biologist`

-     Chemistry

-     Mathematician

(E)    Answer not known
1

ndr6u®Ou6FTOu®61ch  6TcOOu  8fl u^rTd5L]  a LI IT®§§LI Li i.®dr6noj 7

(1)         d5L]GIT05ITfr

(2)        83IT6FT@aLbLDITdr

(3)       Gi§LjIT6m6fo  ce65fred

(4)       gLDdspITS  ±ITapIT

(A)       1  ro®B]fo  4  gflu.IT6FTco6u '

(8)       1  LD®guLb  2  FfluIT6FTco6u

(C)      2  LD®9|Lb  4  d;fluIT6FTco6u
1

(D)      2  LDfDorLb  3  dFfuITdrcoou

(E)      6flcoL  Q§flu6flchco6D

CCS2E/2022 4o
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117.  World Youth Skills day is .celebrated on : ,

(A)    March, 15
(8).    May,  15

u8ust, 15

(E)    Answer not known
-

gL6oa ©co6TT©fr 9pch 9®TLb  QSITiL.ITLdH®flp prrdr

(A)       LDITfrS,   15

(8)     GtJ).15

(C).    gd56iuL,  15

(D)   .g9@Go,15

(E)     6flcoL G\§rf\u6flchcoco

/.

\.

`  118.. The  first  Indian  male  Badminton  player  to. wiin  a  silver  medal  under

singles in the world Badnginton Championship was

(ry   Kidambi srikanth
(8)    Parupalli. Kashyap
(C)    Sai praneeth
a)   Pullela Gopichand
(E)    Answer not known

•#

P

g_6odi   ebLoufr   ®®copuTifr   ©p©LILIS§rrLL   d=rrLbl9uchaSIL    CLjITL+gaflch.   Q6udrofld
LI§didiLb  Q6udrp  (!p§ch ©Sgu  qb_dr ©p©L]HS§rrLL.6flco6ITUITL®  of7fr

(A)     @LrrLbLfl  gd5ITas

(8)     urr®udrof o5apuL

(C)     0:ITliJ  L97Ofs

(D)      lid)G6D6D  cd5ITL9O:fb§

(E)      6flcoL O§Jflqu6flchcoco
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119.  Arrange the following in descending order. of amount receipt in budget
estimates 2022-23. :
(i) `   State excise
(ii)   Stamps and registration fees
(iii) ` Motor vehicles tax
(A)     (i), (ii),  (iii)
(c)     (iii), (i),  (ii)
(E)    Answer not known

/'(ii),  (i),  (iii)

@)   `(iii),  (ii),  (i).

3::i-££'u f9£::flco=£di;cO:ggds.  G§IT7ITu    L09L]L9lch    ££6;65chL    u®9]¢£L®,
(i)        LDITp6O  d56DITch  Gum

(ii)    (!p§gco7  LD®orLb  ugqu  q5LL_6mLb
`  (iii)   GLDITLLITfr  6uIT;6FT  Gum

(A)     (i),  (ii), (iii)
(C)     (iii),-(i),  (ii)
(E)     6flcoL Q§rfiu6flchco60

(8),,  (ii), (i), (iii)
@)   (iii), (ii), (i)

120.  Which of the following statements are correct?     .
(i)    The nominal GS.DP growth of TN`is estimated to be 14.0 perce;t in

2022-23
(ii)   In the  TN budget estimate  2022-23,  the fiscal  deficit is -e;timated

. at 3.63 percent of GSDP
.    (iii) The  outstanding  debt  as  a  percentage  of GSDP  is  expected  to be

27.76 percent in 2022-23

or (i) only
(i), (ii). and (iii) `

(8)   (ii) only
@)  (ii) and'(iii)

(E)    Answer not knowri
Lf\chou®Lb  ch®9tld56rfied  dFrf\uIT6FT6u®cOp  G§frSo§®  :

(i)     :8L2£;2L3i:®8#g©.PITL+ch    QuuITona61ch    GSDP    6uGTTfr6:a    14.0    g:g6fi§LOITa

(ii)    2022-23,     §L6\eprT®     P9Pcoco     eipdsch;Suflch    G§ITITrruiD9dH     @9i]L|®pITds

©copuflch  (fiscal deficit)  GSDP 3.63 a:§Of§LDITd5 d56"T65flLL]u®flpgH.
(iii)  2022-23-ch    GSDP-uflch   ff§Of§LDITes   Pguco6uuflgudr6IT   d5L6dr   (outstanding

•debt)  27. 76 g§Of§LDITa  6TgfruITfr65d;L]Ll®flp5].

`     (A)      (i)LD,L®lb

(c)     (i),  (ii)  LO®gulb  (iii)

(E)     .6flcoL O§fl,u6flchco6o
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(8)   (ii)  L0L®th
(D)    (ii)  LD®gJLb  (iii)



121.  Which of the following is NOT a feature of .the joint family system?

(A)   Authoritarian structure

%Familistic or`ganisationIndividualistic.identity

(D)    Depth of generations
(E)    Answer not known

Lgdr6i+(p6u6ITOu®9]dr 6Tgi  thL®ds  ©®Lbu  eicoibtligdr eiLbdFLb  eich6D 7

(A)     a:fr6urr965rr7 acoL0LH

(8)     ©®LbuacoroLH      .

(c)     §6flLDdi§ acoLUIT6TTLb

@)     §cO6Dcocopd56Tflch  a_dr6TTrTng§ §chcoro

(E)     6flcoL Q§flu6flchco6o

122.  Tamilna¢u  housing  board  and Tamilhadu  urban  h-abitat  development
board were crea.ted in  .

1961 and 1970

(8)    1951andl960   `

(C)     1970and 1960

a)    1960andl951
(E)    chswer riot known

g#ul%IT8bof;LITgs::£Lor#&  LD®9Jfo  §Lfl`©  PIT®  P05frL]L|p  6uIT96flL , GLDLburrL®

(A)  .   ig6i  LD®orLb  197o

(8)     .1951  LD®g|fo  1960

(C).1970  LD®guLb  1960

a)     196o LD®orLb  lg51

(E)     6flcoL G\§fluchd>coco
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123. . Which of the following statement is/are true of Free Drop Back Service

Janani Sishu Suraksha Kariyakaram (JSSK)?

(i)      JSSK started as a pilot project in Tamil Nadu by TNHSP

(ii)     Drop Back vehicle can transp,ort mother with babie`s upto one year

(A)    Ohly(i)

(8)  .  Only (i.i)
-
Both (i) and (ii) are true

(D)    Both (i) and (ii) are false

(E)    Answernotknown     '            .

936ITofl  flap®  dFITds6iq]IT  6rrmud5ITLb  ®6D6ucF  +7rrL]  Cudi  (Free  Drop  Back)  Cg:coenufld>

Lgchou®Lb  chjDg]d;did>  6Tgi /6TcOOu  eLdrcoLI"

(i)       JSSK    g6IT5|    TNHSP-cfbch    §Lflt!pITL+ch    ®®'    cpchGesTIT+    gLLIJ)me5§

Q§rrLri]g5L]uLLg..

(ii)      iITITL   CLlds   ouITctenfo   ®®   ouug   ©9!co§couqufo   gITcouLfo   Od5ITdr®   Qd;chco

Ou giv  6Li6nd5  G16:lil u i] L] L®dr6no|..

(A)      (i)  LJ)L®Lb.

(8)     (ii)  LDL®Lb

(c),    (i)  LD®grfo '(ii) ©ITch®fo idrcoro

(D)     (i)  LD®g]Lb  (ii) ©ITdr®Lb  §6upITenco6u                     .

(E)      6flcoL  Q§rf`u6fld>cOcO

CCS2E/2022
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• 124.  Virudhunagar Sankaralinganar, involved in. an indefinite hunge-r strike
to rename the Madras State as Tamil Nadu and died
(A)     1956.July                                    .       `( 1956 October

during

(C)    1965 July                                        `@)   1965 October
(E)   chswer. not know,n

=§#IT£ITro6#§coulfodp§gffl±PtflIT9g##®frLDnopcouen+6fl®grpdiITgrtydi7Ofrfu&enITfr

(A)     1956 gr9toap

(c)     io65 oroco-6D

(E)     6flcoL O§flu6fld)ch6D

(a).  1956 ad;GLrrufr

a)   1965 a65GLrrufr

125.  Who was the author of the book ``Oppressed Hindus"?

(A)    M. Palaniswamy                         (8)
(C)    P.V. Subramanian
(E)   Ahswer not known

. Veeraiyan
M.C. Rajah

`®®6;&L]uLL @$5]d;05dr 6Tchg  Li§§65§gdr qbflflufr  u]rrfr?

(A)     M.  uEp6fldFITLfl                                               (8)    R.  6fiITuluch

(C)      P.V.  o}L19ITLDofluch                                  (D)   M.C.  ITITg3IT

(E)     GflcoL o§rfiL6fld>cO60

-
126.  Which one of the following is hot the achievement`of Justice-Party Rule?

(A)    Passing.Communal G.O. of 1921 and 1922
(8)    Cre.ating public service commission

ranting Voting Rights to wlomen
Non-Cooperation.Movement

P

(E) '  Answer not known
£©d5d5drLor®p`ch  g!drgr  LI]L® fo S®dsd5Lfl ufldr grT§cocaT eich6D ?

(A)      1921  ro®grfo  1922 -fo  ±6dr+ch ou©LiLi6uIT§  el7d:rTco6mSap6IT flcopGou®givugH

(8)   .   ei7di  Li6fflulrr6TTfr  G§froun.cocoTULb  eL®ound;dsL]LILL5i

(c)      GILidrd;©6;©  6uITd;©flcoL[]  Oug>Tiid5+LILLgi

@)     ®§g|cog)urmLD ©u6;d5Lb                     .                                                        I
I(E)     6fledL  G\§flu6flchcoco

45. CCS2E/2022
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` 127.  Which  of  the  following  journal  is  not  associated  with  Subramaniya

Bharathi?   .

{:;   fn:i:W Dally                         grx]:;y[andfa      '                    ,
(E)    Answer not known

£c9    o05'IT®dso;L]L]L®dr6rT   @§Sd56rf)ch,    6T5i    &L]ITLDoflu    uITFTgiLiLch   G\§ITLfrLicoLUL5]

a chco ?

(A)    gpgqLul6fl

(C)    ©i9uIT

(E)     6flcoL O§flu6flchcoco
/

(i)    6flg3uIT           `

a)  pu a-SguIT

128.  Who are the ones who brave the FATE?
"Oozhaiyum. uppakkam kaanpavar" - yaar?

(A)    Learned              `

%
Youn.g people

Deligent people

a)   Lazypeople

(E)    chswernotkhown     .
`g29cOpui'Lb  gL+lid;05Lb  d5rT6rfu6ufr' -.uITfr?

(A)      dFrrchGPITfr

(a)      @cO6ITGUITfr

(c)     6flLITcpu®fl  gLcOL6uITfr

(D)      GdFrrLbGu®

(E)     6flcoL O§flu6fld)co6D
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129.  What Thiruvallinvar says a.re the qualities of an Ambas'sador?

(A)    Knowledge, Origih, Education
(8)    Love, Knowledg-e, Clarity of speech

#Duty, Knowing the fitting time, Knowing the place
Purity, Resources, Courage

(E)    Answer not known.
®(9 ,gTT5|6il6rflch  ©6anrild56ITITd5§  g(96ildr(got fr  6TOI®6u>p6;  chgD@pITfr?

(A)     aFqu,  G§rtypLb,  dich6fl

(8)    achLi, aFqu, Q§6flS§ Gugdi

(C)     -d5LcoLD,  d5rr6DLDF§ch,  ©+LDP§ch

(D)     9[Tulcoin,  9cO6mcoro,  9doflqu                           `

(E)      6fl`coL Q§flu6fld)co6D

130. . What is the meaning conveyed through\.the word "extinguish''?
With.ghee extinguishfire!     .

It will prove harder by scandal to extinguish love.

(A}
Life
Put out

(C)    System
a)   Expertise
®   Iinswer hot known           \
*opuluITch  6Trf\gr     L]GULb  6Tchp®pITch  od;6ITcO6uuITa>

d5ITL.DLb  EELgL]GL] in   6T6FTch»

6Tdr9l fo  (5p6rfl ch  `5IfflL]GU Lb' 6Tchilgdr  G\il TT®dr

(A)    guldr
@)    a6fls§ch

(C)      cocopenLD

@)      LJuflchqucoLcoLD

(E)     OflcoL O§flu6fld)coo)
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131.  Which moral text is exclaimed a§ `Velaan Vedham"?

(A)    Thirukkural
(8)   .Asarakovai
(C), Proverbs# Naladiyaar

(E)    Answer not known

`   . `G6u'OnITch;  cor§Lb' 6T6FTL  GurtypL]u®fo  Sp  giT®  ©5]

(A)    god;©pdr

(8)      gdFrrITdiGtErrco6u

(c)      uE9aLDITco

(D).     f5ITto+`uITfr

(E)     6flcoL Gl§flu6flchco6D

132.  In which excavation site Sir.' Mortimer Whee]ar used scientific and soil
layer method?

(A)    Pallavaram

(*
Attirampakkam
Arikkamedu

(D)    Kaayal      ,
(E)    Answer not knoivn

6TS§  e]d5$6urr7rTulsfl  u6guflch  o:fr.  GiDrrfr`+rofr  Ofajfr  eiF6fluch  ij]®grLb  LDdr  ei®g©

(!pcOpcOu L]  Li uchLI ®§g6uTrTfr?

(A)     .uch6oIT6u7lb

(8)     a.§gFLburrds65Lb

(C)      afld;05GLD®

a)    dirrud,

(E)     6flcoL  Gl§flu6flchco6D
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133.  Match the correct one  :

Party

(a)   Swatantra,party
+

a)   Gadar party
Swaraj Party

Forwar.d Bloc party

t2   '       1            4

134

312

(E)    Answer not known

a:fl u rr6FTou®cop§  C§fr$Og®

d5La

(a)    dE§Sg7rr qLa

a)    d58fr o;Lfl

(c)     ctu7ITee`u  SLJ\  `

(d)     uITfrouL  Lg6n-nd;  d5La` ,

(8).2       '   1

(C)     1         3           4

@)    3         1           2

(E)     6flcoL Q8mu6fl®;6D

P

4

3

2

4

(d)

Founder.

1.     Soiian singh Bhakria
•2.     Motilal Nehru

3.  `   C.. Raja.Gopalachari

4.     Subash chandra Bose

.,

`    pgrQienfr       ,

1.       cdFIT$6ir  ari]  ud;enIT

2.       Gij)rr9ct`ITd)  Gpo

3.        fl.   7rrg3  Ge5rruIT6DIT¢o:rrfl

4.        diLlrr6try  6=Sg7  GLjrr6iv
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134.  When  the  Government  of ~India  had  decided  to  appoint  a  One  Man
commission   6f   Inquiry   to   inquire   into   the   circumstances   of   the
disappearance of Netaji Subhas  Chandra Bose.  In  1945
name .was recommended by the then `Chief Justice of India.

(A)    Srinivasdvaradan
(8)    K.K. Ghosh

gr3:5:E:sia
(E)    Answer.not known
'/

g§IT#g=:i:gr:5%+C:i:ITaed§g::#::copgfchzfa:icofgroufr¥ITITgFg#roco:pp:;g§3;±HuS§§:£§g
ch  auuco7L]  ufls8ucO7S§ITfr

(A)      E5fl6urrdF6ufr§ch     .

(8)     K.K.  Gd5rr6q

(C)     D.K.  7ITul
•(D)      G.D.  Cd5rr6iD6oIT

(E)   . 6flcoL Q§flu6flchco6D

135.  Muhammadan Literary and `Scientific Society of Calcutta was organised dy

(A)    AmirAli

%Dudhu MiyapAbdul Latif
(D)   Shariatullah                               ,
(E)   .Answer not known

od5ITchd5§§ITofled         (!pdiiDgurf\ch        ©cO6;chuLb         LD®9]ib        ei®6flu;      .  eicoLDLcOH
g®u®§pu6ufr

(A)     cg]L6fr d6fl

(8)     gJ5Jgiv  Lflurrch

(c)      aL]8jch  6OS§OoOL]

o)     apflu§9jd>6OITgiv

(E)     6flcoL a§flu6fld>coa>

\
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136.  The o.bjective of Tenancy reform is

as1 bolition of Intermediaries
(8)    Increase Rural Literacy
(C)    Regulation ofMoriey Lenders
(D)    Eradication of Rural indebtedness
(E)    chswer not known

fl 6o65©S§cog5 Jfrg®S§S a:LLS9ch ©®d;Gd;rrdr

(A)      ©cOLS§7d5frd5cO6IT Sd5©6tl5]

(8)     @7rrLDL]Lip  esdjGflupcoou  e|gd5flL]ual

(c)      diL6ir 6uprfu©H6ufrcbco6TT cpcOpLI®Sg]6L]g|

(D)     @7ITLDLip  diLdr a+cOL9cOu  ®£L]u8u

(E)     6flcoL O§tflu6flchco6D

137.  Which one. of the following is .the function ,of the Finance Cbmmission of
India?

(i)     Allocation of the shares of net.proceeds of taxes
(ii)    Laying down principles governing grants-in-aid
(iii)   Looking into the financial relation. between the centre and the state

(A)    (i) and (ii)                                   a/(i), (ii) and (iii)                '
(C)    (i) and (iii)                                       a))   (ii) and (iii)
(E) :  Answer not k.nown

indr6u®Ouor6uo®ch ©¢gu p? qbco6mu§gch Qd:uchuIT®  6Tor

(i)        6ufldsdich fl&IT  Gu®ouITuflch. urfu©&Oflch ®gi.ds£®

(ii)       L[]rTdiurfudico6IT flfraifld;©Lb  Odin.drco65d5co6TT  ou©§§ch

(iii)    LI]§gu  LD®9|Lb  iorTpch  ei7dTd5©d;© ©cOLGu  gLdr6TT pgiLipco6uL]  LiITfrL]LIgi        +

(A)      (i)  LD®9JLb  (ii)

(C)   ,  (i)  LD®g]Lb  (iii)

(E)     6flcoLQ§flu6flchco6D      .   -

P 51

(8)   (i),  (ii) tJ)®grLb  (iii)

@)   (ii)  LD®grLb  (iii)
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138.  Match coirectly the``common name with the Genus  name  of nematode

parasites :

(a)   Ancyclostoma

fo)   Enterobiu.s

(c)    Wuchereria

(d)   Trichuris

1.      Whipworm

2.      Hookworni

3.      Pin worm

4.      Filarialwiorm

(a)        @)       '(c)         (d)

1342

2341

(C)     3           4          2           1

@)   .2           1          4           3

(E)  Answer not known

grT®Li([g     ®L®drenf\05Ofldr     GLlfl6FTL]     OLiu®Ldy     QLlngu6urr6IT     0Liucop     d=flurrd5L]
Ourr®S§Q|Lb.

(a)    eidrcog6;G6orfuGLITLIT  1.      dFTLcoL  Li®    '

a)     6TchGLIT67IT`Lgu6in         '  2.       Qg5ITS@  Hqb

(c)     qudQo:CITfluIT                     3.       (par  Li®

(d)     L6h7©flch)                             4.       o°ocouG6Dflfuch  Li(!g

(a)        ®)        (c)'     (d)

(A)     1            3           4-         2

(8)    2           3          4        ,1

(C)     3.           4           2            1

(D)    2           1           4           3

(E)     6flcoL O§flu6flchcoco
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141.  Which number replaces the question mark for t.he following numbers?

`A'   ::

(C)     25

a)27
(E)    Answer not known

£Cg)  QSrr®6;g5L]uL®dr6TT  6T6dro5Ofd):6fl6ITrr  ©PufL®6;©L]  u96ome5  6u®Lb  6Tdr  6Tgu?   .

(A)  .  21

(8)    23

(C)     25

@)     27                                               .`

(E)     OflcoL  O§flu6flchco6o                      a
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142.  Find the volume of water tank measured 10 in x 5 in x 1.5 in.

(A)    75litre
(8)    75olitre

ar .500 litre

5000 litre

(E)    Answer not known.

•1o  L§  x  5  L8  x  1.5  L8  a6TTqudron  ®®  SfrsQ§rrL+uflch  ae5ITgiv6TT6ITqu  iungu 7

(A)     75  6flLLfr

(8)     750 66`LLfr

(C)     7506  6@LLfr

a)    75000 6flLLfr

(E)     6flcoL Gl§flu6fld)co6o

143.  An aluminium .sphere of radius  12  cm is melted to make a cylinder of
radius 8 cm. Find the height of the cylinder.

(A)    24cm

#::::
a)   40cm
(E)   chswer not known

i2®ggalrsL.IT:#:H8IT;pa®¥£gcorfulc:ITS:pr:®didsIT&::.L®8Qff.rfe.a"cpdrar®fr

(A)     24  0d:.LS.

(8)     3oog.L8.

(c)      36  0o=.L6.

a)     40QdF.L8.

(E)     6flcoL Q§flu6fld)co6o
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144.  Which  among  the  following  is  the  simple  interest  for  the principal  of
€ `1,000 for one year at the rate of 10% interest per annum?.

(:;   : :::                              #15o0o0
(E)    Answer not known

L96ir6u®ouqu6u®flch    6Tg]    {    1`,000   cgig:gndso5rrd5    ®7IT6dr®d5©    10%    6Tchp    Of§§9ch

§6fl6uL+urr©Lb?

(A)     €7oo

(C)     €150

(8)   €500

(D)   i-loo

(E)     6flcoL  G\§flu6flchco60
`

I

145.  If the simple interest at the rate of #%.per annum, for ¥  years, is € #',
then the principal amount is

(A)     €#

(C)  .  €  100# (D, i #
(E)    Answer.not known  r

\

®fr    ±bedqu+®©,     #%L  , 6uL+    of§§?ch,     #-ebdr®d5®65©    @`cOLd;©Lb    §6rfl6uL+     `.
of§L[]IT6ngH   ¥  #   6T6flch  eidF606ir  Lj]gL]Li

(A).    €  %

(C)     €100„

(E)      6flcoL  o§rf`u6fld>cOcO

CCS2E/2022
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•D,  { ¥
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-146.   If 2* + 3)J : 3# + 5y = 18 :.29  then # : y is

(A)     4:3                                                                `

(,3 :  4

(C)      2.:3.

a)   3:5

(E)    Answer not known
J

2* + 3y : 3# + 5? = 18 : 29  6T6flch  # : y-6Tchu5I

(A)    4:3

(8)    3:4̀

(C).    2:3

(D)     3:5`     -

(E)     6flcoL q§mu6flchco6D               '

147..  If 5 : 6 i # : 12 . Then the value of #  .is

(,1o

(8)   .6

(C)     12

a)5
(E)    Answer not known
5 : 6 = #.: i2  6T6fflch  # -ch  LJ)9L]Li

(A)     10

(8)6

(E)      6flcoL  O§flu6flgivco6o
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148.  Wha't  is  the  'greatest, possible  volume  of a  vessel  that  can be  used  to
measure exactly the volume of milk in cans (in full capacity) of 80 litres,

res and 120 litres?

(C)     301itres
(E)  `Answei not kriown

\

(8)   251itres
(D)  40 litres

g##:£ds  £# i::£#ed §oH`IT#::fr' g:ouoITdi 68:Lenfrds8:igr+:  LL2ITp§9#§L;L:
eigd5LiLd[6;  Qd;ITdr6rr6ITqu  6Tchal6rrqu ?

(A)     20 6flLLfrg5dr                                          (8)   2,5 6flLLhadr
(c)`,   3o  6@LLffsdr `                                         ®)   4o 6flLLfrd;dr

(E)     6flcoL o§flu6fledco6D

149.  Find the HCF of cI3 -9ar2,(a _ 3#)2.

(A).  (o2_9#2)                                              (8)

(C)     (o3-9ac2)
(E)    An,swer not known
03 _ 9Or2,(a -3#)2  qbdiual®Fdr L6L]Qu® QLjnoi  Ou©Sgcou  d5IT6inS. .

{3)   (:23-_99%;)2)                           `(:i  {:I:£L
(E)     6flcoL a?flu6flch6D6o

150.  Kumar borrowed  €  52,000 from a money lender at a particular rate of
•       simple  interest.  After  4  years,  he  pal,d  €  79,040  to  settle  his  debt.  At

whatrateofinterestheborrowedth(#]::%??
(A)     12%
tc,     ]5%                                                     .r@,   LL%
(E)    Answer not known
©LDIT+  6T6iruGufr  g2®  ®®L]LgLL  g6fl6uL+  6flfl§§gd?   {  52,ooo  diL6ITITd5Li  QujDPITfr.
4  qbdr®eM8d;©L]  Lgp©  §6no] ` 05L8pr6565ng5  €  79,o4o-83d  ogal§g6FTITfr  6T6flch,  6T6ir6ar
ou i+6£§§Pch  tgi6ufr dsLch  a LI®9|dr6ITrrfu.

(-A)     12%
(c)     150/o
(E)  -   6flcoL O§flu6fld)coco
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151.  Match the`following:     .
\

Subject                                    '   `                              Year

(a)   Commission oflnquir} Act                           1.1968

a)   Central civil services.(Conduct) Rules   , 2.1850

(c)    Public servahts (Enquiries) Act                 3.1964

(d)   All India s6rvice (Conduct) Rules              4.1952

(a)        @).(c)         (d)

(A).1            2            3            4

21

13J

24

(E)   Answer not known

£©,ds05drLOu®cOpL]  QUIT®Sgud5T           I
• oLjIT®dr -(6=LLLb)

(a)    6fl¢ITITco6m gco6muS gLLfo

<86dr®

1.`     1968

a)    LD§gud;  ©+cO.LDL]  uofld5dr  (j5L§cO§)  6flp65dr      2.       185o

(C)      G\urr5jL]  Lldiurr6TTfrd5dr  (GfldFITITco6md;dr)  €LLfo     3.        1964

P

(d)    eifl6D ©Sgu  Llofld;dr (pL§co§.)  6flgg5dr
I

(a)        ®)-       (c)         (d)

(A)    1.        2            '3            4

(8)    4          3           2           1

(C)    4           2            1            3

a)   3         ,1         2         4

(E)  `  6flenL Q§flu6flchco6D

59
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\

152. ,Which of the following is/are correct about Cantonment Board?

(i)     It  is  delimited  area  where  the  military  forces  are  permanently

stationed

(ii)    It does  not work under the  administrative  control of the Defence

Ministry

`  (iii)   They are grouped into three categories

/.¢xulowly correct

(8)    (i) and (ii) are correct

(C)    (i) and (iii) are correct

a).    (iii) only correct
1

(E)  ` Answer not known

d5drGLITchQLDdrL  Ourrflu$6p§L]  LI®p  £©dsd5drLOu®grdr  6Tg|/6TcOOu  dFrf\ 7

(i)       7ITgp]6uLb  quco7ugudsgi]uLL ©dr6flL§ged  flITS§7LDITds p9i§§Lj.uL+®ds'©Lb

(ii)      unojdiITLH  eicoLDJ8dsSch sL®LUITL+dr ££ ©d  offud>  Hfflougchco6O

(iii)     ©cOOu  (!pchgr  6ucod;d56rrIT05L].  Lgfldsd5L]LjL®dr6ngj

(A)      (i)  LDL®Lb  gfluITqugu.

'    (8)      (i)  LD®guLb  (ii)  o:flurr6ITco6u

(C)      (i)  LD®9|Lb  (iii)  a:fluIT6FTen6u

(D)      (ii.i)  LDL®Lb  6:fluIT6noi

(E)     6flcoL a?flu6flchco6D
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154.  Which one of the following ,fundamehtal rights has been wrongly listed?

(A)    Right to Equality

#::::::::::LS:::::±L:=alRemedies
(D)    Right to Freedom
(E)    Answer not known

£GE9  ae5FT®6;d5L]L]LL  t9i+L]ucOL  8Lfl6DLD8iofld>  6T8u  §OupIT6FT8i 7
\

(A)       0:LD§5]Gu   8Lrf]cOLD

(8)      e]pflu6DcOLDLfl6ir  (±p;ib  Sfrqu  diIT9]Lb  8LflcoLD

(c)      0+ITdrLgus©drLIT6FT  gLrflcoLI]

(D)     &§S97 9_flcoLD

(E)     6flcoL  Q§f`u.6flchco6U

}

155.  Which   among   the   following   was   not`  a   nomenclature   for   "Union
Territory" previously?

(A)    Scheduled districts

(8)    Chief con;missioner's provinces
Part .C and Part D states

•  Peculiar central enclaves

(E)   ` An.sw6r not known

££6;,65IT6mL]u®Ljco6uacTflch      6T8i      "®dr®u      Lfl7c§¢-rfudioflch"     cpScO§u      Gluufrd5dr
@coLtLJngJ?

(A)    -cgiLLGuco6muflp  C6:frdsc5L]LILL  LD.rrouLLrfut5dr

(8)      §6u>6ocoLD  qb6u>enT`ufrsofch  LOITSIT6eeTrfudidr

(a).     u©g  c  iD®orLb  L]©g  D  LDrrpcorild5dr

(.D)     §6rfi§8]6uLDIT6IT  LDsgu  u©9qdr

(E)     6flcoL Q§flu6flchcoGo
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156.  Choose the right a.nswer/answers about the Supreme Court of India.
I,

(i)    The Supreme Court is the Upholder of th.e Constitution of India.

(ii)   The.Judges of the Supreme, Court hold office till the age of Seventy-
two.

(iii) . The Indian Judicial system con;ists of a sirigle hierarchy of Courts.

(iv)  The Supreme. Court of India was constituted on January, 1950

(A)    (i) and (ii) only

(8)    (ii) only                 '

(C)    (iii) and (iv) only

d/0,¢ihi)arnd¢Ivhdrry
(E) . Answer not known

©Sgu  gLgc S®LDchp§cO§d; ©p§§ dFfluIT6uT oflcoLcOu§  G§frSo?®d;d5quLb  :
\

(i)  .     g_Jo=S9LDchpLb  ©S9u  ei7Jlu6ocoiDi]coii  flcoco Pgu§5iLb  elcoLDi]Li  qb©Lb

(ii)      9_6:dESgLD6irp  $9ugcEdr  72  6uu8|  6ucOFT  u§6flug6fl®L]L]rTfr         ,

(iii),   @Sgu Sgsgucop  ®®cOpL  u+flco6D SgiDdrp eicoLDLca;uds oo;ITdrng|
S

(iv)    ©S?u  g_6:gs9lDchpLb  1950tcELLb  q±,.ch®  g3enoufl  lJ)rT§Lb. Q§ITLrijd5L]ilLLg|

(A)       (i_)  LO®grLb  (ii)  LDiL®Lb

(8)      (ii)  LDL®Lb

(C)      (iii)  lD®g|lb  (iv)  LDL®Lb

(D,)     (i),  (iii)  io®orLb  (iv)  iDL®Lb

(E)  '  6flcoL  a?flu6flchco6o

.P
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157.  Match the following:

(a)   senji

a)   Anaimalai

(c) ,  Vellore

1.      Staladurga.

2.      Vanadrirga

3.      Giridurga

(d)   Panchilankurichi   4. .    Jala durga  ,

(a)        ® )        (c)         (d)

(A)    2           3           4           1

214

324

(D)    4           3          2

(E)   Answer not known

£$6505ITdru6Li®6O)pL]  G` u rr®§8id5

(a)     OF©fl                                     1..      6fu§6D  g|frd5rr

®)     qbcoenLDco6o                        2.       ouen g|frd5rr

(c)     G6ugrfr                                 .  3.       @fl  5ifr&rr

(d)     urr©dFrr6orii©P6:fl             4.       g36o  glfro;IT

( a)        @)        (c)         (d)

(A)    2           3

(8)    3          2

(E) 6PcoL O§flu6flchcoa)
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159.  The concentration Index was calculated by

(i)     'Total  population  and  total  cultivable  area  in  terms  of  persons
per km2.

(ii)    Dividing actual population of the district by the average population
of a district.

(iii)   Total popula`tion be correlated to the-land area weighted according
to its productivity.

UAI)iff:¢x:;:AV°:ryDulU

(C).  (ii) and (iii) only                                                                      .

@) '  (iii) only

(E)   chswer not known
o6:pqu  ©Fus®  6Tdrouno|  6;6mdsflLLlu®flp8]

(i)        ®®   @.i82ch    gLdr6IT   pLlfrd;dr   a+L]ucOLugch    Qu]rr§-§    LI>dsdBdr   o§ITcod5    Li]®grLb

GILDrr§§  a:rr©u+ufldr  uITL]Li

(ii)       ®®   LOITOuLL§gch  gL6ir6nrouIT6FT   Lj]dsd5dr  G)§ITcod;com   eiLbt[]rTGULL§gdr  d:prTd:fl

LDdsd5dr  Gl§ITcod5cOu  Gld5ITch®  Ou©§§ch.

(iii)    Glil>ng§    LDgd;dr    Q§rrcog    a§ch    a®Li§g§    gp9is©    9®LI.   p6DL],LiITL]LiLch
o§rrLfrLicoLu9|.

(A)       (i)  LD®9|lb  (ii)  L0L®Lb

(8)     (ii) roL®Lb

(C)      (ii)  LDfD8uLb  (iii)  LOL®Lb

0)     (iii).LDL®Lb

(E)     6flcoL O§flu6flchcoch
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- 160.  Match the following :

(a)   Tropical Evergreen

a)   Trobical Deciduous

(c)    Semi desert

(d)   Mangrove

(a)        ®)        (c)        (d)

eyrf 8       4       1       2

1,`    Thorny Bushes

2..    Tidal Forests

3. .   , Tropical Rain Forest  ~

4.     Monsoon fores`t

(a)    4           3           2            1       -

(C)    2T         1            3            4

(D)   4           2           3           1

(E)   chswer not known

igch6u®6u6prou®cOpL]  a LJ rr®§5id5.

(a)    .eiu6FTLi]6frLcO  ild+coroLDITprrds  d5rr®d;dr

®)    eiu6FTLDdrLcO  ©cO6Dui?ire  a;IT®d5dr

.  (c)      OupgivL  Llrrco6o6u6FTrild5dr

(d)     d:gdL]Lipats  d5rr®d5dr

•(a)         @),     (c)         (d)

(A)    3           .4          .1            2

(8)    4          3          2           1

(C)    2            1           3           4

a)   4         2         3         1

(E)     6flcoL Q§flu6fld)co6D

P 67

cpLLi§fr6dr

®§d;  d5IT®65dr

3.           eiu6FT  iDchL6D.LDcog}6;  d;n:®d5dr

4.           Li®oud;6;rr®grds  d;rr®d;dr
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161.  Which of the following statements are true about the location and extent
of India?                                                   '

/

(i)      India is divided into almost two equal halves by tropic bfcancer.

(ii)    India is the second largest country of the world in area.

(iii)   The latitude and longitudinal extend is nearly thirty degrees.-

(iv)   Tfie standard meridian of India passes through Bhopal

(A)    (ii) and  (iii) only

(8)    (i), (ii) and (iv).only

lff/®ar]ndtyfrf:A)dray
@)    (i), (iii) and (iv) only

(E)    Answer not knoivn

gfl¢ugITuenITg6fl?dr   ©®LLLgLfo    LO®9]fo    u7L]uonqu    ©F§SH    Lflchou®fo    ch®gro56fled    GTg

(i)        d5Ld5       C7codiufl6uTITch      ©SguIT      ®IT6rrofl®©      ©7dr®       dFLD[       u©gg56ITmsLj
Lflfldso5L]uL®dr6noi.

(ii)      L17L]L16IT6flch  a6oflch ©7drLrrougi  GILlrflu  pIT®  ©S9urr.

(iii)    eiLd:   iD®grLb   §rfe;es   c7cod5d5(9d5©   ©cOLGu    gLdr6rr   ©cOLQOuofl   flLL§LL
CPL]u8l  +@fl g©Lb.

(iv)    @Sgivu  all ffr6505C7cod5, Gi]rruITch  ouf urrd;  65LSgi  Og:chguLb

(A)      (ii)  LD®grLb  (iii)  iDL®Lb

(8.)      (i),  (ii)  L0fD9JLb  (iv)  LDL®Lb

(C)      (i)  LD®g|Lb  (iii)  LDL®Lb

o)     (i),  (iii)  LD®grLb  (iv)  iDL®ib

(E)     6flcoL Q§flu6flchcoco
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162.  Assertion [A]   :     Hig.h  density  lipoproteins  transport  cholesterol  from

peripheral tissues to the liver.

Reason Ht] The   elevation   of   lipids   in   plasma   leads   to   the

deposition of cholesterol on the arterial walls, leading

to atherosclerosis.

(A)    [A] is falsebut Ht] is true

(8)    Both [A] and Ht]` are true, and Ht] is the correct explanation of [A]

(C)    [A]'is true but pe] is false

:I oth [A] and pr] are true, but Ht] is not the correct explanation of [A]

(E)    Answer not known\

d3|®or  [A]          .          luff   c9]Lfrsg    QO;IT®LHL    LiIT§rijgdr    Lip§   gdFdsd5ofdj    @®S8]

Sed6S\ITgud;©d;  Qd;rr6D6foLpriTcoa>ds  Od5rrch®  Gld:chflchp6FT.

dsrrIT6eeTfo  [R]      :            Lg6ITIT6foLI]IT6flch    ach6IT    60L]LgLdiofldr    LDgL]LS®    §ro6rfl    dL6ufrd56flch

flSrr6o6iuLITrTd)     `L]+or§®©     ou£6u(5j5@Pgu.      ©g|      Ou®S§LDch

§4L] Li§G§ITch  el tp®fld;(5  ou £6u©d;@jD5i.

(A)      [A]  §6ugu,  qb6FTITch  Ht]  -oFfl

(8)      [A]     LI)®9ILb     P]     ©ITdr®Lb    o:fl,+    GLDguLb     P]     6TchLlgp     [A]6fl®©    dFfluITen

6fl6nd505roIT©Lb

(C)     [A] dEfl, genrrch  qu §6ugr

(D)      [A]     LDjDgrLb     [R]    ©ITdr®Lb.  dFrfl,    qb6FTrfu     p]    6Tchilg|     [A]ofl®©    fffluIT6FT

6fl6TTd;SLDchd)

(E)     6flcoL Q§flu6flchco6D

EI 69 CCS2E/2022
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163.  Choose the stronger acid in each` of the following pair.

(i)      H30+orH20

(ii)   . NH4+  or NH3

(iii)    H2S  or HS-

(iv)    H20 oroH-

o,H30+,  NH4+,  H2S,  H20

(8)    H20,NH3,HS-,OH-

(C)     H30+, NH3,  HS-,  H20

a)    H20, NH4+, H2S, OH-
(E)    Answer not known

£Gg}   Od;rr®d;d5L]uL®dr6IT  ®chG16uIT®  C8IT+ufiguLb   ou6@coLD   L6`©  e|Lfl6D§co§§   C§fr6H
QdFrfuu6LiLb.

(i)       H30+  ad>aJgi` H.20

(ii)     NH4+  ach6D5I  rdH3

(iii)    H2S  tflcha)g|. HS-

(iv)    H20  ach6Dgi  OH-

(A)     H30+,  NH4+,  H2S,  H20

(8)     H2.O,  NH3,  HS-,  OH-

(C)     H30+,  NH3,  HS-,  H;O

a)    H20, NH4+, H2S,OH-
(E)     6flcoL O§flu6flchco6o
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164.  The interaction of biotic potential with erivironmental resources, as seen
in populations showing the S-shaped growth curve, as :
dIV/d£ = rN(IV-K)/K  where  IV  is  the  number  of individuals  in  the

population,   £   is  the  time,   r  is  the  biotic  potential  of`the  organism
concerned and K stands for

a/  rJfrrtyir8 c;apAIdrry

(8)    Maximum popul;tion size

(C)   \Particular habitat     .

(D)    Biomass

.  (E)    Answernotknown

S-ou+6u`    6u6rrde:@    ou6n6TTco6ud;    d5ITL®Lb    LDdsdEdr '  Q§rrcod5ulch    a;rmTL]LI®oug|    GLIITch

d®gpg©9ch  ou6rrriid5(gL6FTn-6FT  8Luflfluch  qh®p66\ch  Q§rrLfrLi  :

i;I-d;=rN(N--K)lK      @rfu©\    ;   `  erchu=     ro6sELdr     QprcoEftr9de   '  grfuen

§6flpLlfraafldr  6Tch+6nddscod;,   £`.  6TdrLIgi  GPITLb;   r   6TdrLIg|  dFLbLIS§L]uLL  9_uflfl6FTS?ch

aulflulch 9pch,  I.D®9|Lj] K 6TdrLlgp

(A)     §ITri]©Lb gpch

(8)      agd5LILdF  LDdsd5dr  o§ITcO6  a6ITqu

(C)      ©PL]L9LL GulTEP6flLLb

a)     sLuflfrL]QUIT®dr

(E)     6flcoL Q§flu6flchcoco
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165.   Consider the following Statement`s :

Assertion [A] :       Simorgh ®hoenix) launched two satellites.

Reason [R] :           It is a satellite carrier rocket

Now select your answer scheme given below :

(A)    Both are true

(8)    Both are false

lfJ'VAIisFHhaavdrJFIfJIfys+~£

a)    [A] is true and [R] is false

(E)   .Answer not known

££dsd56givL  .Ou ITS;fl u rfuo5cO6ITds  d5Ouofl   :

dEL®gr   [A]   :               flGiD,ITfrds     (Ls6rflds6fu>).     ©prdr®     Qd=ujDcod;ds     cd5ITdrd5cO6IT     6fl6dr68flch

GIG:gu§9ugl

a;ITFT6riLb   [R]   :        @8]  odFu®cod5s  G65ITdrd5cO6IT  6T®§5]S  Gio:ch8uLb  9qud56OLb  qb©Lb.

£cp  ©®LIL9L®dr6IT.©®ufL+d>  dFfluIT6FT oflcoLcOu§  G?frsGl§®  :

(A)     ©u-dr®Lb  dFflurT6trgi

(8)     ©7dr®Li> §6upIT6ngb

(c)      [A]  §OupIT6IT5i  LI]®orLb  [R]  0:fluIT6FT5i

a)     [A]  gfluIT6ng|  LD®g]fo  H`]  §ouprr6FT5|

(E)     6flcoL G\§flu6fld)co6o
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166.  Virtual G20 digital Economy Ministers Summit 2020 was organised by.  .

(rty'SaudiArabia           `
(8)    Iran
(C)    Iraq

a)   Kuwait
(E)    Answer not known

oLorfupo5fr  G20 6Tdredluch  oLIIT®6ITngrr7  LI]¢gfld;dr chLLLb  2o20 ©d>  6TS§ prrLLITd>
acoij]did5L]uLL5I?

(A) -   dFqug  aG7LguIT

(8)       FFUIT6ir

(C)        FFITrr65

@)     ©coGu§

(E)     6flcoL O§flu6fld)co6D

167.  Where is the largest solar power project of India located?

UfTkyrs»drfm
(8)    Karna-taka
(C)   chdhra pradesh

`     a)   Gujarat

(E)    Answer not known

©fbguIT6flch  Lfl65LioLlflu  ©flu  L6lched;? gLLfo  6Trii© pgroui]ilL®dr6ITor

(A)      7rrg3Gfo§ITch

(8)      d5frprru5rT

(C)     gs97L]Lfl7G§0:Lb-

a)    ©g37IT§

(E)      6flcoL  Q§rf\u6fld>cO6D
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168.  Justice. D. Murugesan Committee has been constituted in 2021 to look

into the matter of

(A)    Reservation for Government school students in Tamil Nadu Police
Service

(8)    Reservation in public sector units

(/Enrolment  ratio  of Government  School  students. in  Professional

Courses

a)   NEET Examination

(E)   Answer not known

2021ch       S9u7d:fr      D.       cp®Gd5o:ch      ©qB

acoL£>d5d5L]LiLLgi.

d5rrrflu§co?'      g7rru

(A)     e|7d+L]  LJdrdi  u>IT6eeToufrd5(gd;©§ §L6l©prr®  a;rr6uch gicop.ufld) ©L ®gig£®

(8)     ounois8lcop fl8u6u6ITrfud5ofch ©L ®8|8£®

(c)      o§rr£®d5ch6flufld>  eiITdFL]udrdi  LDIT6"rGufrd;ofdr  cd:nd;cods  ofl@§Lb

a)    SLG§frqu

(E)     6flcoL Q§flu6flchco6D
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169.  Read .'the  following  passage`  and!','ansiver  the-  item  'that  follow.,  Your
answers to this item should be based on this passage`only

PASSAGE

Education  management  information  system  has  been  brought  online
wherein   the   database   of   every   school,   teacher   and   students   in
Government, Government aided and private schools are inaintained on
real  time  basis.  Using  this  information  several  tasks `are  automated,
simplified and reported everyday.

Which one of the following is best implied in the passage?

(A)    Government has control over school
(*Ithelpsgovernmentintakingwgllinformedpolicydecision
(C)    Different stakeholders ale involved in the system
(D)   It is berieficial to the school authorities and students
(E)   Answernotknown  ,

£Cg}  Qd5rr®dsd5L]LiL®dren  Lj¢9coub   Li+§gi  6fl6ITITofl®©  6flcoLudid;6quib.  alrfud56ngi
6flcoLurT6ng|     d5LLITULDmsLI     Lj¢?uflch    ei+L]LlcoLufld>`   6T®dsLiuLL§rrd5     ©®6d5
G6udr®Lb

a;chof\          GLDa)rr6drcoD          Sd56uch          e|coLI)L]Li          6TdrLIg|          ©co6wTu          6ugivurrd;d;
G\d;ITdr®6LiITL]LiL®d;    od5rrdr+(gd;@pg|.  `e|gch    a7d}, ,  apdF    eL§6flGILlc»Lb    LD®9iLb

§6fl ulrrfr  Lldr6fld;ofldr  ebfl fl ulfr  tl]/b9uLb  LI]ITcOT6u fro5dich  ?pqu  §d5Ouchd;dr  c9ichouLIGLl ngi
ca:d;fl6d5L] L] ®fldrp6FT.  ©§§d5Gud>d5cO6rTL]  .Li udrLI ®Sg  ei?d;  QdEuchLiTr®d;6n.IT6ngi  §rrch

©ud;a;L]LI®@drpen,         6Tal]§nd;d5L]LI®fldrp6FT        cLD9uLb        prrdrG§noLi>        eiFd;cods
a:LDfrfld5d5L]u®@chpen.

£©d56;drL6u®9]dr 6T5i  flpLILirr6dr th®pms 5|coLDui Lb.?

(A)     ei7fl®©L  udrdi6dr. LS§IT; gL®duIT®

(8)      flpL]Llrr68T ?d5ouch  (!p6DLDIT6uT  Gld5ITdrcod5  cp+Glou®6d5  eiITfl9© ©gi  gL§QiLb

(C)      ©drGucoLDL]urrch  u@Gougi  §FTL]uLL  uril©¢rrITfro5dr  uri]Og5®§5]dr6IT6FTfr

a))     Lldrdi Sfroune5§g®©ib  LO®9ifo  LDIT6m6ufrdi(96©L ©9|  Llu9|dr6IT§ms ©®d;©Lb

(E)     6flcoL G)§fluGfld)coo)
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170.  Choose the correct answer

Given the  situation due to  COVIDil9, the net borrowing ceiling of the
states were enhanced to

3,
4 percent
5 percent

(E)    Answer not known

of GSDP in 2021.

(8)   3.5 percent
a)  6 percent

dFflurT6FT of\coLcou§  C§fr¢Q§®

Cd5IT6flL-19  05ITIT6mLDrrs  g®LjLL  ©©Pco6Duflch,   L[]ITP6Drild5ofldr  Pd;7  a;Lch  gL¢g:ouITLbLi

2021©ch.GSDP-uflch

(AL)       4  8FPG§ELb

(C)     5 o=gof§Lb

6flcoL  O§flu6fld)co6D

6;©  GLDLi)u®SPL]uLL5J.

(8)    3.5 6=§Of§Lb

• a)   6 g=§Of§Lb

171.  W'hich article of the Constitution states that the state to secure a social
order for the promotion of welfare of the people?

qJ    Ardrf ufas                                   ITrBb  Air!ifdr:f3sO

(C)    Article 37                                       @)  Article 36

(E)    Answer not known

LDd505dr    p6OcO6FT  cLDLbu®§5|6u§®d5me5  ®®  a:(pd;  ®(!griicod5  e]IT6i  Ljngid5rTj5di  GOudr®Lb

6Tchgr  6T¢§  eiFflu6DcOLijL]Li  0;LLL]Lgfl6H  ch9u@p5i 7

(A)      a:LLLJLflflqu  38

(C)      a:LLL]L9fl6H  37

(E)     6flcoL G\§flu6flchcoco
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172.  Which of the following is/are true?

(i)    Reformation  may be  identified  with  partial  changes  in  the  value
system and consequential cha.nge: in the quality of relationships.

(ii).  Transformative  changes  are  characterized viith radical changes in

•HEH

e total system

). only

(C)    (i) and(ii)

(E)    Answer not known

(8)   (ii) only  .
a)  None of the above

\

£©d;d5rrchLico6ud5Of d)  6Tg» /6Tco6u  dFfl ?

(i)     :Eg##® :8[:96fl:9onbquH ff3:ITro:+ £%g£:£:chH#£ LrouITf#dic::2::co:£6fldr

(ii)       gL®LDrtyp          iDITjbpri]O;dr         GILDIT§§
6ucod5L]u®§§L]u®@drpen  '

(A)      (i)  LJ)L®fo

(C)      (i)LD®8uLb(ii)         .

(E)     6flcoL -Q§flu6fld)co6D

e|coL.Dl]Lfld)         £Of\7         LDIT®Prrfud5(9Lch

(8)   (ii) u)L®Lb

@)   6Tgiquib achap

173,. According to the Niti Aayog's health index (2021),I
emerged as the top three states in India.

(A}¥::::a?rTaadis±:'NAasdsua:n:nfe:aunnj::a
(C)   Andhra pradesh, Maharashtra and Gujarat
(D)   Punjab, Karnataka and Haryana
(E)    Answer.not known
2021   qbLb   g6dr®    Qou6TfliflLi]uLL   Pg  .qbcurrd5@dr   a+d5rr§rr7ds   ©flusL+chu+

loporLD . eb@u     LI]ITg6Drfud;dr     (!p§ch     (!pch9]

P

a Lrijd;cO6TTL]  Lfl +§9pdr6TT6FT.

{A)       gL§?7L]  LflcFT?d:Lb,  a6io6Ti>fTLb  ro®9iLb  L©dFITL]`

(8)      C6IT6ITiT,  §Lfl©pIT®  LD®grLb  o§guri]65rr6ITIT

(c)       gfbgIT  igcFT§g:Lb,   LD05ITITrr6rty+ITIT  LD®gprLb  ©83ITIT§
/

(D)      u©&ITL],  d5frSITLg;IT  LD®orLb  irfluIT6m

(E)     6flcoL o§rf`u6flchcoco

77. CCS2E/2022
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174.  Arrange  the  following  t`erritorial  conquests  of Alauddin  Khilji  in  the
correct chronological order '
I.     Ranthambor
11.    Malwa
Ill.  Chittor
IV.  Gujarat/IV, I, Ill, 11
(C)    I,II,Ill,IV

(8)  I, Ill, IV, 11
a))  rv, Ill, 11, I

(E)    Answer not known
<9i6Orr6Hgch  @chchuflch  Lgdr6Li®fo  Lg7ITS®u  och®®d5cO6IT  cp6apuITcoT SITcO  Ouflcod:L]LI+
6T®8Hd5.

I.        76ir§Lbcurrfr

11.       Li)rrch6trrT

Ill.  asgJ,fr                                          ,
IV.   ©g3ITng

(A)    IV, I,.Ill, II
(C)    I,II,Ill,IV
(E)     6flcoL O§flu6fld)co60

(8)  I, Ill, IV, 11
@)  IV, Ill, 11, I

175.  Name  the  first  woman  who  have  been jailed  for  Salt  Satyagraha  in
Madyas Presidency?

Lakshmipathi            (B)  Durgabai
(C)    Satyawati                                   a)  Swaroop Rani
(E)    Answer not known

G\LDL7IT6iv    LDrmsrr6m'§9ch    gLL]L|    d;§9urrflITd5§9ch    FT®LJL®    J\copd;©    QdFchp    cp§ch
G)Li6driodi  urrfr?

(A)      ®6;L6larfu  6DLd+Lflug

(C')     g;§urr6u9

(E)     6flcoL Gl§Pul6flchcoco

CCS2E/2022

(8)    8ifrd;ITUITul

@)   6iDou®Ll  7TTof
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176.  According to the Kural; ,"Gnalam Karuthinum kaikoodum" when a man

wants to conquer the world what are the two things he should keep in
mind?

(i)     Wealth and Bravery/courag:

(ii)    Time and place

(A)    (i)only

¢irH) owrty

(c)    (i) and (ii)

a)   None of the above

(E)    An`swer not known

"(grrcoib  d5®?®iib  cod;ch®Lb" -

GLD®chgivu    god;©pGflchLI+    ®®6Lifr    8La]cfo    cp([pOucO§qufo    cod5L]LI®p6    d5®g6FTITch

eioufr `6TS§ ©pdrcoL e|®Sgi  GldFud>LILj c6udr®Lb 7

(i)         GldFd)6uCPLj)  OfITCPLb

(ii)      dBfTa)cPLb  ©LCPLb

(A)      (i)  LDL®Lb

(8)     (ii) u)L®Lb

(c)      (i)  Lf,®guLi,  (ii)

(D)      GLD®d;IT9piLb  6TcOOuuiLb  eieda>

(E)     6flcoL Q§mu6fld>cO6D
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177.  "Thirukkural   and   Kamban's   Epic   would   suffice   to   build   a   new
civilization even if the present one is\ completely erased". Who said this?/Caldwell

(8)    G.U. Pope

(C) ' Veer;mamunivar
(D)    Ellis

(E)   Answer not kno*n

a_6Dfloflch   prTd5fld5ib    (!p®grLb    ei£$5]6flLLrTguLb    god;©p(gLb,    d5Lbuch   d5rr6flucpLb

©®S§rTch  GLIIT5|Lb,  Lsdr®Lb  ei§co6uTL]  Lig|ifl§g|oflL6DrrLb  -6Tchgr  thFUJ6ufr

(A)      d5ITch®G`6uch

tB)      al.u].  GUITL]

(C) '    6fi7Lorrco6fl6ufr

@)     6Tch'66ch

(E)     6flcoL O§flu]6fld)co6D
-/

178.D#T8athe `Later Chola period', `Irayili' was associated with

x free land
(8)    Taxedland
(C)    Tax levied on temple land
(D)    Tax levied on leasing land
(E)   chswer not knbwn

Lgl®d;IT6DJ  GdFrTg)fr  SIT6O§gch  `©cOpufl6@'  6TdrLlgu

(A)      Oufl  ©d>6Dng  fl6DLb

(8)      6ufl  6u©6fld;a;L]LJLL fl6DLb

(C)     Gdirruflch pa)§g®©  Ofl9d;d5L]uLL 6ufl

(D)      ©§§cO0565©  oflLLjLILL p6D§gfDd5IT6ur  6urfl

(E)     6flcoL a?flu6fld)co6o
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179.  Consider the following statements :
•(i)    The partition of Bengal in  1905 was.the most striking example of

the British divide and rule. policy
(ii)   In the Calcutta. meeting 1905 Surendranath Banerjee gave a call for

the boycott of British goods and .institutions
(iii)  On  7th  August  1905  at  Town  Hall  meeting  in  Calcutta,  a  formal

proclamation of Swadeshi move'ment was made
Which of the statements given above is/are `correct?

{8)    {i} ::]dyt±£, only                           gr
(i) and (iii) only
(i),_ (ii) and (iii) are correct

(E)    Answer not known
LglchQI(pLb  chjbgidsd5cO6fTd;  d5IT6ind;.

(i)      1905-©ch   GLI]fbGld;ITdr6rrL]LILL   6urfuesL   Lflfl6flcoen   qbrfuflG6ouflch   L9fli§IT(gLb
Od5rrdrcoo565(5  Lfld;d  apf5§  gL§rrFT6mLDrr©Lb

(±±)-aioIT%~pSchco£::Qflu£&££::SfgITb:;p8ITdiL#%Sdi&FT#pHIT&g;;frfredflmL+6*

(ill)ii::%dsg§#[?gr7#3u:ITi#:=:S:#FITouen=co::::LPL%LQHPpthLL§9codiG§@

(A)     (i)  lJ)L®Lb                                                        G)    (i)  LJ)®guLb  (ii.i)  L0L®Lb

(c)  I   (i)  ij]®orLb  (ii)  LDL®Lb                              (D)   (i),.(ii)  Ij]®orLb  (iii) dFflurr6ngi

(E) '   6flcoL a?rfiu6flchco60

180.  Second Round Table conference of 1931 :
1.     It was held during the reign of I-ord wellington as the viceroy of India
`2.     It  was  rebresented.by  Gandhi on behalf of INC.  (Indian  National

Congress)
Which of the above statement is/are' correct?

(A*
1 only correct.                               (B)   2 only correct
Both 1 and 2 correct                 .a)  Neither 1 nor 2

(E)   Answer not known
fl.Lg.  ig3i  abLb  g6dr+ch ©ITdrLITOua  6uLL cLI]cO83  LI]ITF5IT®  :

1.      oou6§lrfuLch  Lf\ITLi  ©SguIToflch co6u6iu,ITrTums ©®S§ CLlngi  pcoLoujbpgi.

2.      §gITg;}::LIT:gflu      e5rrriJfl7ach      LflITgfl9uma      g5TSg      @LbLDITj5ITL+ch      66DSg

GLD®d5drL .d5i®9]d5ofch  6Tg| /6T68>ou  d:fl umaT68>6u ?

(A)      1  LDL(i)ILZ)                                                               (8)    2  LDL®fo

(C)      1  LD®grLb  2                                                          (D)    1Lb  qgich6D,  2Lb  e|cha>    .

(E)     OflcoL O§flu6flchco6o.
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181.L7ia::o:1s,isprhi::pihnoricacid'Limeandorganicmatter

(8)    Iron,    Lime,    Calcium,    Potash,    Aluminium    and    Magnesium
Carbonates

(C)    IronandAluminium    .
(D)    Highly saline-and rich in organic matter
(E)    Answer not known
6u6drLed  LD6dr (!P60LD   6u6TTLJ)IT6UT§ITd;   gL6TT6IT9].

(A)      u]d;flu,  Lirrch]Lifld;  eiLfl6oLb,  ddr65uTrrLbLi,  d5flLDL]OLIIT®dr            .

(8)      ©®ibLi,       &6ch6mrrLbLi,      6;rrchfluLb,       OuITLLIT6iS\uLb,      eiguL6lofluLb       LD®grLb
LDdsofap u Lb  65ITfruc6FTL

(c)      @®LbLi  LD®guLb  a8uLfl6fluLb

(D)      Lfl©S§  gLL]Li§§drcoLD  LD®orLb  e|g6;  6;flLDL]GluIT®dr6;dr

(E)     6flcoL Q§flu6flchcoco

182.  Assertion (A) :      V.O.  Chidambaram  established  the  Swadeshi  Steam
navigation company.

Rea`son  (R)    :      He  winted  to  oppose the  monopoly of the  British in

(/(A)
Navigation through the coast.

and (R) are true and (R) is the correct explanation of (A)
(8)    (A) and (R) are true and (R) is not the correct explanation of (A)
(C)    (A)iscorrectand@)is.wrong      ,
(D)    (A) is wrong and (R) is correct
(E)  . Answer not known

ch®or           (A)      :      6u..8L.  a§Lbu7Lb  a+c§fl  65L]uch  fl8uGu6FTScO§S'Q§rrLriifl6FTITfi.

d5ITIT6eeTLjj     at)      :      ©Sguds              d5Ljbd5cOIT             OuIToflLi§?ch              qbrii@G6Dufrd56flch

cp®9» flcoLDcou  ei6u fr  6Tg fr¢?IT fr.                                                                     ,

(A)     th®gr  (A)  LD®gufo  65rr76"Tfo  (R) dEfl.  6;rr76mfo  a),  (A) th®cop  6fl6nd5©flp5|.

(8)      (A)  ch®gr   LJ)®g|tb   (R)  d;rr76mLb  d:fl.  qb6FTrrch  a)  g;rr76mib  (A)  ch®Ch;p  Oflondsc
6flchco6D

(C)      (A)  th®gu  o:fl,  (R)  d5rr-IT6mLb  §oug|

(D)     (A) ch®gu galgr,  (R) o;rT76mib  o:fl

(E)     6flcoL a?flu6flchco6O
I
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183.  Chapter V of Part V of the constitution provides for a high officer of the
Parliament who would exercise vigilance over the expenditure of public
inon_ey: He is
(+ Comptroller and Auditor General of India                 `'
(8)    Finance Mini;ter
(C)    Auditor General
(D)   Prime Minister
(E)    Answer not known ,

iz@g:#g:ITg:LIT;©rofchp¥aer;g6foa:fr§gugITSrIT#co:ds#roTenJGgffITEap;=j:£
96urrrr.

(A)      ©S?u  §co6DcoLj]  §6rfldscod5  LDjDguib  €6md;65rr6rrfr

(8)     Fg acoLDJ5:fr
(c)      §cOcOcOLD  §ofldscod;ulT6ITfr

a)     flFT§ro  LDS9fl
(E)     6flcoL Q§flu6fld)coo)

184.  Which  article  says  that,  "No  child below the  age  of 14 years  shall be
employed to work in any factory or in any hazardous employment"?

(# Article 27                                      (B)  Article 26
Article 24                                        (D).Article 25

(E)    Answer not known
`14   6Ljug]d;'©   £©   gLdr6IT   ©pSco§d3dr   urr®ib   Q§ITgiv®dBiLib   eich6og|   aLirruld;piDIT6uT

a-L\rfuc86flch  cOucO60 .LIITfrdsd5d;  thLno]'  -  ©cO§6  ch9iLb  d:LLLiLgflqu  6T9| 7  '

(A)     dFLLL]flfl6H  27                                            (8)    d=LLl]Lglfl6H  26

(c)     8:LLL]Lflm6H  24                                           a)   a:LLL]Lgfl6H  25

(E)     6flcoL O§flu6fld)co6D

185.  Boothalingain study group is related.to
(A).  Trade unions                                (8)
(C)    Lockouts
(E)    Ansiver not known

P

trikes

Lgch6u®Ou6uTOu®giv?  g?6@ ri]d5Lb  qbiijquds©(!p-6T§©i Lch  o§ITLfrLicoLu9| ?

(A)     O§iT£®  dFrij65rild5dr                                      (8)    CQJcoa) Pgi§§Lb

(C)     gL®?edd;dr                                            (D)   ag.9uri]didr
(E)     6flcoL O§flu6flchco6D
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186.  Which`Of thei following is riot the r61e`of-NITI Aayog?'

(i)     Actas athinktank.
(ii)    Power to impose policies on states.
(iii)   Funds allocation.

(y (i) only
(ii) and (iii)

(8)   (i) and (ii)
(D)  (i) and (iii)

(E)    Ariswer not known
££'d;drL6u®givch  6T6n6u  pg-cfbcuITd;@ch  L16rfl ©chco6D 7

(i)        ®®  qbG6DngFco6FT  ©ce6urrd5  Qo:uchLI®Qig|.

(ii)      LDITpa)rijd5Ofd) 9LLriid;co6TT?did;©Lb  od=uch9pch.

(iii)   fl9 ®5Jd,£®

(A)     (i)  lDL®lb

(c)      (ii)  LO®gHLb  (iii)

(E)     6flcoL Q§flu6flchcoco

187.  ELnciples of scientific thinking are

(i)      Empiricism
(ii)    Rationalism
(iii)   Skepticism
(A)    (i)only

(C)    (i) and (ii) only

(E)    Answer not known
ap6fl uch flS§cO6FTuldr od;rrdrcod5d5dr

(i)       'aeprLIOuourr§ib

(ii)      LI©§§givqualIT§Lb

(iii)     EFfbG§d5Lb•(A)      (i)  LDL®Lb

(C)      (i)  LD®g|Lb.(ii)  LDL®Lb

(E)     6flcoL  Gl?flu6flchco6D

cas2E;2¢22 .

LD®.gu lb  (ii)

LD®g»,a  (iii)

%i:;);i:)1:nd(iii)

(8)   (ii) roL®Lb

a))   (i),  (ii)  LO®guLb  (iii.)



188,  How many termsrof the!series :|`u3:+.,28 +&8! +„ .... should be takento get the
sum 1296?

(A)    6    ,

Answer not known

13 +23 + 33 + ......   6Tdrp   a?rrLflch`` 6T§§co6ar  a.grL]Lid5co6IT  chL+6mch  th®§d)   1296
@coLd;©Lb?

(A)6

(8)7
(C)8

a)9
(E)     6flcoL Q¢flu6flchcoco

189. . Find

(,

P 85,

the value o£ JRE
31

(8)     32

(C)      33

a)34
(E)    Answer not known

LD@.u 86rrGdres .. JET

(A)      31

(8)     32

(C)     33

a)34
(E)     6flcoL Q§flu6flchcoa)
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190.  The average mark of 25 students was found to be 78.4. Later on, it was

found that score of `96 was inisread as 69. Find the correct mean of the

marks.

(Al)    rJrl.82

(,79.48

(C)     79.84

a)   97.84

(E) -  Answer not known

25   LDrr6mGufrd;dick   d:ITrrefl   iD9L]GILldr   78.4   ©Tii©   96   6Tchp   LD?L]LIIT6uTg|   69   6T6uT§
I

§Ouor§6DITc   6T®dd;L]LjLLgp   a;drLgivuL]uLL9i   6Tof)ch,   LDgL]oLldrd;®65d;ITcaT.  6:fluIT6FT

d=ITrrd:mcoud;  d5rr6drd5.

(A)     77.32

(a)    79.48

(C)     79.84

a)   97.84

(E)     6flcoL o§fluapd>coaj
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191.` If 5 persons can do 5-jobs in 5 days then how many days will it take for

(5#:sonstofinish5°j°bs?            (8)  7
I(C)     9                                                                 @)   11

I

(E)    Answer not known

5    pLlfrd;dr     5     G6u68>6Dd56u>6fT     5     pITLd;did>     otFiLi9i     cp+LiLlfr     6Toflch     5o     pLlfrd;dr

5o  Gouco6od5co6TT,  GT§§co6FT prTLd;dice  Gld:ulgi  cp+L]Llfr?

(A)    5                                                        (8)   7

(c)  -9                                                            @)   11
(E)     6flcoL Q§flu6flchco6D

19.2.  A reader reads 20 pages of a book in 2 hours in an uniform speed. How
much time will it take to read 50 piges of the same book.in the same
speed?

(A)    3hours

(y::::::
a)   4]/2 hours
(E) `  Answer not known

/

g!®  (g®i]flLL  GOud5Sgd>  ®(S  Li§§d5§6ut§i]  u+65©Lb  ®(96iifr  2o  ud5d;riid5in6ITL]  u+a;d5
2  LDofl  Gf5ITLi]ITflpg|  6Tofld>  e|Gufr  eLC§  C6ud5§?d>  eiG§  Li§§d5§9d> ,50  Lld;a;Tiid56Dend
LI+6d;  6Tdr6uenqu  Gp7rorT©Lb ?

(A)      3  LD6rfu

(8)    4LDdi

(c)      5  LI>6un

a)     4%  Lj]6rfu..

(E)     6flcoL Q§fluof\chco®                                                                                                                   \
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193.  The  difference between the  S.I.  and  C.I.  for 2 years for a principal of
0 at the rate of interest 8% p.a. is

(8)     €35
(C)     €38

a)   €42
(E)    Answer not known

{    5,0oo-ds®,    8%   qbdr®  ,owl+uf\ch,    2   qbdr®d5(gd;©   §oflouL+j5©Lb   chL®
6H L`+6;©Lb  ©coLGul uidr6IT  6fl§9u rrdFLb

(A)     €32

(8)  '  € 35

(C)     €38

a)   €42
(E)     6flcoL O§flu6flchco6o

194.  .The compound interest on  € 5,000 at  12% p.a. for 2 years compounded.
annually is
(A)     €1,o72

`B'   {:::i:

a)    €1,372
(E)    Answer n'ot known

::'$9£:-LdsH©L:%@¥&®©:Li+Lul®chal2LFu¥en%®ds©.gdr®dsQ6IT®GpcopouL+ds

(A)     €1,o72

(8)     {1,172

(C)     {1,272

@)     €1,372

(E)     6flcoL Q§flu6fld)co6o
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195.  At what rate of simple interest,  the principle  €  48,000 will amount to
€ 55,560 in 2 years 3 months.

(A)   '5%

(8) 6%

a)8%
(E)    Answer not known
ao:ch    {   48,ooo   qb6FTgp    2   a;dr®O;dr   3    iDIT§d5rT6Dsg®©   Lfldr   goflouL+   (p6Dfo

QLDITS§S  G`§ITcod5ulrrg5  €  55,560  qbd5  gLu,frs§gH  6Tofld>  6ijL+  Of§Lb  dirr6ird5.

(A)     5%
-(8)     6%

(C)     7%

(D) ,  8%

(E)     6flcoL Q§flu6flchcoco

196.  Find the ratio of 3 k`m to 300 in?

(A)     3:10

(8)     10:3

(C)     1:10

Of 10:1

(E)    Answer not kn-own
3  fl.LS-6;©fo  3do  LBLL®d;©Lb  ©coLGu  gLdr6IT  6fl@§Lb  o5rr6iro5.

(A)     3:10

(8)     10:3

(C)     1:10

@)     10:1

(E)     6flcoL O§flu6flchco6D
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197.  If the population in town has increased from 20,'000 to 25,000 in a year
find the percentage increase in population             `  `

DM+"u 50%

25%

(C)     75%

(D)     100%

(E)    Answer not known

3&copdsigggQro§dsIT8co¥gITg?gctfls:¥?g§+§cO:38>8::#giv25>000-gdia9diflfodreng

(A)     50%

(8)   .25%

(c)     750%

a)    1ob%  ,
(E)     6flcoL G\§flu6flchco6D

198.  If three candidates A, B`and C in a school ;1ection `got 153, 245 and 102
votes respectively, find the percentage of votes got by the winner?

a48%49%

(C)     5.0%

(D)    55%
(E)    Ans.wer not known
A,  8,  C  6Tchp  GouLilIT6ITfrg;dr. Lldr6fl  G§fr§60ch`  G\LljDp  6urrs©d;dr  cpch®Gu  153,  245

.iDfD9iLb  1o2  6T6of\ch  Q6u®F  GILI®p  GOuLLlrf6TTflch  OuITd;©  d=§of§§cO§ds  `d5IT6drd5.

(A)    48%

(8)    49%
(C)     50%

a)   550/o
(E)     6flcoL O§flu6fld)coco
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